
Correction	
  Biochimie	
  Concours	
  2017-­‐	
  2018	
  :	
  
	
  
QCM	
  16	
  :	
  D	
  
A)	
  FAUX	
  	
  
B)	
  FAUX	
  	
  
	
  
	
  
	
  
	
  
	
  
C)	
  FAUX	
  :	
  on	
  voit	
  que	
  la	
  moitié	
  n’a	
  donc	
  pas	
  de	
  forme	
  quaternaire.	
  	
  

	
  
	
  
	
  
	
  
	
  
	
  

	
  
D	
  )	
  VRAI	
  
	
  
	
  
L’aspartate	
  possède	
  un	
  groupement	
  polaire	
  et	
  chargé	
  -­‐	
  donc	
  possibilité	
  de	
  faire	
  des	
  
liaisons	
  ioniques.	
  	
  
	
  
E)	
  FAUX	
  	
  
	
  
QCM	
  17	
  :	
  ABD	
  
	
  
A)	
  VRAI	
  	
  
	
  
B)	
  VRAI	
  	
  	
  	
  
	
  
	
  
	
  
C)	
  FAUX	
  
	
  
D)	
  VRAI	
  
	
  
E)	
  FAUX	
  
	
  
QCM	
  18:	
  ABCD	
  
	
  
A)	
  VRAI	
  :	
  	
  
	
  
B)	
  VRAI	
  	
  	
  	
  
	
  
	
  
C)	
  VRAI	
  	
  



	
  
D)	
  VRAI	
  
	
  
	
  
E)	
  FAUX	
  
	
  
QCM	
  19	
  :	
  ABD	
  
	
  
A)	
  VRAI	
  	
  
	
  
B)	
  VRAI	
  	
  
	
  
C)	
  FAUX	
  	
  ça	
  AUGMENTE	
  	
  

	
  
D)	
  VRAI	
  	
  
	
  
	
  
E)	
  FAUX	
  	
  
	
  
	
  
QCM	
  20	
  :	
  C	
  
	
  
A)	
  FAUX	
  
	
  

B)	
  FAUX	
  	
  
	
  
C)	
  VRAI	
  
	
  
D)	
  FAUX	
  	
  
	
  
E)	
  FAUX	
  	
  
	
  
	
  
	
  
QCM	
  21	
  :	
  E	
  
A)	
  FAUX	
  :	
  une	
  enzyme	
  ne	
  rend	
  pas	
  possible	
  une	
  réaction	
  qui	
  ne	
  l’est	
  pas	
  
	
  
B)	
  FAUX	
  :	
  	
  
	
  
C)	
  FAUX	
  	
  
Les	
  isoenzymes	
  sont	
  codées	
  par	
  des	
  gènes	
  différents.	
  	
  
D)	
  FAUX	
  	
  
Ce	
  sont	
  des	
  interactions	
  de	
  faible	
  niveau	
  énergétique	
  
	
  
E)	
  VRAI	
  
	
  
	
  
	
  



QCM	
  22	
  :	
  BD	
  
	
  
A)	
  FAUX	
  :	
  
	
  
B)	
  VRAI:	
  	
  
	
  
C)	
  FAUX	
  :	
  coenzyme	
  des	
  voies	
  anaboliques	
  :	
  	
  
	
  
D)	
  VRAI	
  :	
  	
  	
  

	
  
E)	
  FAUX	
  :	
  
	
  
QCM	
  23	
  :	
  C	
  
	
  
A) FAUX	
  :	
  On	
  ne	
  diminue	
  pas	
  la	
  vitesse	
  avec	
  	
  	
  	
  	
  
un	
  effecteur	
  allostérique	
  hétérotrope	
  coopératif.	
  	
  
	
  
B) FAUX	
  :	
  liaison	
  NON	
  covalente	
  :	
  
	
  
C) VRAI	
  :	
  
	
  
	
  
	
  
	
  
	
  
	
  
D)	
  FAUX:	
  une	
  hyperbole	
  	
  
	
  
E)	
  FAUX	
  
	
  
QCM	
  24	
  :	
  AD	
  
A)	
  VRAI	
  
B)	
  FAUX:	
  les	
  deux	
  types	
  de	
  contrôle	
  peuvent	
  intervenir	
  conjointement	
  dans	
  chaque	
  sens	
  
de	
  régulation.	
  
C)	
  FAUX:	
  seules	
  l’adrénaline	
  et	
  le	
  glucagon	
  agissent	
  via	
  l’augmentation	
  de	
  l’AMPc.	
  De	
  
plus,	
  l’insuline	
  et	
  l’adrénaline	
  ont	
  des	
  actions	
  antagonistes	
  sur	
  les	
  régulations	
  
enzymatiques.	
  

	
  
	
  
D)	
  VRAI	
  
E)	
  FAUX	
  
	
  



QCM	
  25	
  :	
  ABC	
  

A)	
  VRAI	
  

	
   	
  
	
  
	
  
B)	
  VRAI	
  

	
  
	
  
C)	
  VRAI	
  :	
  cf	
  SGLT1	
  transporteur	
  actif	
  (=	
  ATP))	
  couple	
  au	
  Na+	
  
D)	
  FAUX:	
  saccharose=	
  fructose+glucose	
  donc	
  liberation	
  d’un	
  glucose	
  et	
  d’un	
  fructose.	
  
E)	
  FAUX	
  
	
  
QCM	
  26	
  :	
  C	
  

A)	
  FAUX:	
  les	
  réserves	
  de	
  glycogène	
  hépatique	
  sont	
  très	
  faibles	
  d’où	
  la	
  nécessité	
  de	
  
mettre	
  en	
  place	
  la	
  NGG	
  avec	
  la	
  synthèse	
  du	
  glucose	
  de	
  novo	
  pour	
  maintenir	
  la	
  
normoglycémie.	
  
B)	
  FAUX:	
  que	
  pour	
  la	
  degradation	
  avec	
  la	
  GP	
  

	
  
C)	
  VRAI	
  
D)	
  FAUX:	
  la	
  GP	
  ne	
  libère	
  pas	
  directement	
  du	
  glucose	
  mais	
  du	
  G1P	
  	
  (cf	
  :	
  diapo	
  ci-­‐dessus)	
  
E)	
  FAUX	
  
	
  
QCM	
  27	
  :	
  E	
  

A)	
  FAUX:	
  c’est	
  la	
  voie	
  du	
  mannose-­‐6-­‐phosphate	
  
	
  
	
  
B)	
  FAUX	
  ce	
  n’est	
  pas	
  directement	
  du	
  G6P	
  c’est	
  d’abord	
  du	
  G1P	
  
	
  
	
  
	
  



C)	
  FAUX:	
  le	
  F6P	
  n’est	
  pas	
  un	
  inhibiteur	
  de	
  la	
  PFK1	
  	
  

	
  
	
  
D)	
  FAUX	
  

	
  
	
  
E)	
  FAUX	
  
	
  
QCM	
  28	
  :	
  ABD	
  

A)	
  VRAI	
  
	
  
	
  
	
  
	
  
	
  

B)	
  VRAI	
  

	
  
	
  

	
  
	
  
C)	
  FAUX	
  :	
  attention	
  la	
  glycérol	
  kinase	
  est	
  absente	
  du	
  tissu	
  adipeux	
  	
  
	
  

	
  
	
  
	
  
	
  



D)	
  VRAI	
  

	
  
	
  
E)	
  FAUX	
  
	
  
QCM	
  29	
  :	
  BC	
  
A)	
  FAUX	
  

	
  
	
  
B)	
  VRAI	
  

	
  
	
  
C)	
  VRAI:	
  	
  TOUS	
  les	
  types	
  AG	
  ont	
  besoin	
  d’être	
  activés	
  préalablement	
  par	
  la	
  thiokinase	
  ou	
  
acyl-­‐coa	
  synthase	
  avant	
  d’être	
  utilisés.	
  
D)	
  FAUX:	
  pour	
  C<12,	
  les	
  enzymes	
  sont	
  solubles	
  dans	
  la	
  matrice	
  et	
  non	
  associées	
  sous	
  
forme	
  d’un	
  complexe	
  ancré	
  dans	
  la	
  MIM.	
  

	
  
	
  
E)	
  FAUX	
  
	
  
QCM	
  30	
  :	
  CD	
  
A)	
  FAUX	
  :	
  le	
  citrate	
  inhibe	
  la	
  PFK1	
  et	
  active	
  l’ACC	
  

	
  
	
  

	
  
	
  



	
  
B)	
  FAUX:	
  l’adrénaline	
  inhibe	
  l’ACC2	
  donc	
  bloque	
  la	
  synthèse	
  de	
  malonyl-­‐coa.	
  

	
  
C)	
  VRAI	
  	
  
D)	
  VRAI	
  :	
  Le	
  manque	
  d’insuline	
  lève	
  l’inhibition	
  de	
  la	
  LHS	
  créée	
  normalement	
  via	
  la	
  
phosphodiestérase	
  à	
  LHS	
  active	
  à	
  lipolyse	
  +++	
  à	
  libération	
  d’AG	
  à	
  béta-­‐ox	
  à	
  
accumulation	
  d’acétyl-­‐coAà	
  activation	
  cétogenèse.	
  
Le	
  manque	
  d’insuline	
  ne	
  permet	
  pas	
  la	
  régulation	
  covalente	
  activatrice	
  des	
  voies	
  de	
  
stockage	
  et	
  favorise	
  ainsi	
  l’activatin	
  des	
  voies	
  de	
  déstockage	
  ou	
  loin	
  de	
  la	
  période	
  post-­‐
prandialeà	
  NGG	
  +++	
  
	
  
E)	
  FAUX	
  
	
  
QCM	
  31	
  :	
  D	
  

A)	
  FAUX	
  
B)	
  FAUX	
  

C)	
  FAUX	
  
D)	
  VRAI	
  
	
  	
  
E)	
  FAUX	
  
	
  
	
  
QCM	
  32	
  :	
  ABC	
  
	
  
A)	
  VRAI	
  	
  
	
  
B)	
  VRAI	
  	
  
	
  
C)	
  VRAI	
  	
  
	
  
D)	
  FAUX	
  	
  
	
  
E)	
  FAUX	
  	
  
	
  
	
  
QCM	
  33	
  :	
  AB	
  
	
  
A)	
  VRAI	
  	
  
	
  
	
  
B)	
  VRAI	
  
	
  
C)	
  FAUX	
  
	
  



	
  
D)	
  FAUX	
  	
  
	
  
E)	
  FAUX	
  
	
  
QCM	
  34	
  :	
  ABC	
  
	
  
A)	
  VRAI	
  
	
  
B)	
  VRAI	
  	
  
	
  
C)	
  VRAI	
  	
  
	
  
D)	
  FAUX	
  :	
  	
  
	
  
E)	
  FAUX	
  :	
  	
  
	
  
	
  
	
  
	
  
QCM	
  35	
  	
  :	
  ABCD	
  
	
  
A)	
  VRAI	
  :	
  	
  	
  
	
  
B)	
  VRAI	
  :	
  	
  
	
  
C)VRAI	
  :	
  	
  
	
  
D)	
  VRAI	
  :	
  	
  
	
  
E)	
  FAUX	
  
	
  
	
  
QCM	
  36	
  :	
  AC	
  
	
  
A) VRAI	
  	
  
	
  
B) FAUX	
  :	
  Les	
  symports	
  n’utilisent	
  pas	
  d’ATP	
  ce	
  sont	
  les	
  antiports	
  qui	
  le	
  font.	
  	
  
	
  
	
  

	
  
	
  
	
  

	
  
C) VRAI	
  	
  

	
  
D) FAUX	
  dans	
  le	
  tissu	
  adipeux	
  brun	
  	
  
	
  
E) FAUX	
  


